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Bapuanr 1 — a,0;

41.5.

41.6.

41.7.

41.8.

41.9.

41.10.

41.11.

41.12,

41.13.

41.14.

041.15.

041.16.

a)y=x"-Tx;
6) y = -3x° — 13x;

a)y =x + 2x%
6) y=x"-x%

a) y = 12x + Jx;
: 1

_ _o.2_ 1.

6)y— 2x I’

a)y=6x/;+%;
6)y = -2/x - 3;

X
a) y = cos x + 2x;

6) y = 3 sin x + cos x;

1 .
a)y = g sinx - 3ctg x;
0)y=21tgx + V3 cos x;

a)y =x"+9x* + 1;
6) y =x - 4x' - 3;

a) y = (x* - 1)(x* + 2);
6) y = (x* + 3)(x® - 1);

a) y = Vx(2x — 4);
6)y=(*+1) Jx;

a) y =x sinx;
6)y=\/; COoS X;

a)y = (% + 1)(2x - 3);

6) y = (7 - l](sx + 1);
X

a)y=x" tgux;

6) y =cosx ctgx;

Bapuanr 2 — B,I.

B) y = Tx’ + 3x;
r)y =-x + 8x.

B) y = x° + 4x';

r)y=x'-7x".

B)y=\/;—5x2;
I‘)y=10x2+%-

B)y=10\/;+%;
1
P)y——S‘\/__;.

B) ¥ = sin x — 3x;
r) y = 2cos x + sin x.

COoS x
B) y = 5

+ 1,4 ctg x;
r)y=>6tgx - sin x.

B) y = 2% + 13x"° + 12;
r)y =x" - 6x* - 36.

B) y = (x* + 3)(x* - 1);
r)y=(x" - 2)(x" + 4).

B) y = Vx(8x — 10);
r)y=~x (x*+2).

B)y =X COSX;
r)y=\/; sin x.

B) Yy = (% + 8](5x - 2);

r)y= (9 - lJ(3:)c+ 2).

Rlm

B) Y = ctg x;

r)y=sinx tgx.



041.17.

041.18.

041.19.

041.20.

42.1.

42.2.

42.3.

a)y=(x-1)x*+x+1)
6)y=(x2+2x+4)(x_2);
3
a)y = 2x + 4'
2
X
6) y = x2—1;
_ 8Jx
a)y = 2x + 9’
sin x
6)y: x;
I—3
a)y_ x ';
15
6)y="o_7

a) y= (41? - 9)7’
G
x .
6) y = (12 - g)’
a) y = sin (3x — 9);
6) y = cos (g _ 4x}

r

a) y= tg (517 — Z];
6) Y= \/50 + 0,21;;

Pemmre ypasuennss Y =0

Ne43.1

Ne 43.2

a) & — (15 —x)e" 15

6) & — (x 41 H:IEJI'H

T ) I
a) y = (2x= —24x + 2;].”1-

B)y: 3

P)y:

B)y: 3

P)y:

B) Yy =

B) Yy = (x + 1)(x° — x + 1);
r) y = (x* - 3x + 9)(x + 3).

x2

—4x;

x
x2+1
_2\/; ]
— 3x’

COoS X
ot

x+x
-1’

xl&

P)y: x4~2_

=5 4

orefpos

I‘) y = (15 _ gx)13.
r) y = cos (9x — 10).
B) y = ctg (% — 4x);

r) y = V4 — 9x.

B) - — (4 —x)e*"”

r) -
24 BV = H.{J —36x+ 36)¢ 36

y = (x+14)e"



Ne 43.3

Ne 43.4

Ne 435

Ne 43.6

5 Y = (F—15x+15)" "

3
a) ¥= 14+33x—2x

6) Y =X\/x—9x+4

324
y=—+x+6
6) X

a) V= (2x— 1)cosx—2sinx+8

10,/3
= cO

5v3  53m
X — +

6) ¥ 3 SX+ 3 T

a) Y= logs (x* —30x+249) +8

6) ) = 2In(x+7)—2x+4

Ny = (F—12x+12)e

3
B) y =6+ 12— 2x°
r) }:——rﬁ_ﬁT-F 22

X 4121
B) Y= X
400
y=—+x+7
r) X

B) Y = (4x —6)cosx —4sinx+ 11

143 V3 TVaR
= COsxX X —
n’ 3 3 18

g) ¥ =logy (X +2x+30)+10

r) Y= 4In(x+4)—4x+8



